Part Lists & Exploded Views

Built-In (BI) Series (SWS #4300000) |Suss2ERE|

7009656
7009658
7009686
7009688

BI-30U DOOR, GRILLE, TRIM PARTS LIST

Description

Door, Ref RH-F/O 30U Svce
Door, Ref LH-F/O 30U Svce
Door, Ref RH-S 30U Svce
Door, Ref LH-S 30U Svce

NOTE: Door Assemblies do NOT incl. hinges / handles.

2

w

QO OWoo~NO OB~

12
13
14
15
16

17

18
19
20
21
22
23
24
25
26
27
28
29

30

31

7007261

7007260

7005254
7001150
7007259
7001277
6201550
6201890
7010943
7011201
7010285
7010286
7010188
6201550
7010197
7010207
7029166
7010970
NA

NA

7013582
7015936
6111090
7010966
7010673
7010665
7010677
7011004
7010974
7011005
7011006
7011013
7011014
7007127
7007131
7007135
7013560
7013561
7010975
7010976

Bracket, Grille LH Svce

(Includes Support & Rivets)

Bracket, Grille RH Svce

(Includes Support & Rivets)

Rivet, Semi-Tubular .180 X .280
Bracket, Frame Support

Switch Assy, Svce

Screw, Machine #10-24X1/4

Screw, #8-18 X 1/2 Low Profile
Screw, #8-15X3/8 6-Lobe Trhd
Depressor,Door Switch Svce(SS Door)
Depressor,Door Switch Svce(F/O Door)
Hinge Assy, Top RH Low Svce

Hinge Assy, Top LH Low Svce

Door, Screw Cover 50 Svce

Screw, #8-18 X 1/2 Low Profile
Hndle,Framed Door 50 Svce (Framed)
Trim, Door Handle 50 Svce (Overlay)
Handle Assy, SS Square Svce

Handle Assy, PRO 37.5 Svce

For SS Square, See 7029166

For PRO, See 7010970

Screw, Set #10-32x1/4 SS Cone
Stud, Mounting Svce

Bolt,#10-24X1/2 6 Lobe FH(Tube&Pro)
Trim, Door Hinge Side Svce

Shelf Assy, Door Shallow Svce

Shelf Assy, Door Standard Svce

Shelf Assy, Door Dairy Svce

Gasket, Door Svce

Retainer, Gasket Door Svce (~ 48”)
Retainer, Door Gasket Svce (~ 27”)
Trim, Cabinet Top Svce

Frame, Cabinet Top RH Svce

Frame, Cabinet Top LH Svce

Grille, Framed 30 Svce (Sales Acc)
Grille, Stainless 30 Svce

Grille, Overlay 30 Svce

Hinge, Grille Assy RH Svce

Hinge, Grille Assy LH Svce
Mainframe Assy, Rt Upper (RH Hinge)
Mainframe Assy, Lt Upper (LH Hinge)

#7040156 - Revision B.3 - June, 2015

Description

Mainframe Assy, Right Side (LH Hinge)
Mainframe Assy, Left Side (RH Hinge)
Kickplate, Solid Black Svce

Kickplate, Solid Stainless Svce

Trim, Door Top RH Svce

Trim, Door Top LH Svce

Trim, Door Bot RH Svce

Trim, Door Bot LH Svce

Hinge, Mid U RH Svce

Hinge, Mid U LH Svce

Drawer, Fre-F/O 30U/UG/UA Svce
Drawer, Fre-S 30U/UG/UA Svce

NOTE: Drawer Assemblies do NOT include handles.

Gasket, Drawer 30 Svce

Retainer, Gasket Door Svce (~ 17”)
Drawer Screw Cover 30 Svce
Hndle,Framed Drwr 30 Svce (Framed)
Trim, Drawer Top 30 Svce (Overlay)
Trim, Drawer Side Svce

Trim, Drawer Side Svce

Hndl Assy, Tublr Sq 24.312 Svce
Handle Assy, PRO 21 Svce

For SS Square, See 7029183

For PRO, See 7011001

Hinge, Side Plate RH Svce

Hinge, Side Plate LH Svce

Frame, Main Side Right Lwr(RH Hinge)
Frame, Main Side Left Lwr (LH Hinge)
Trim, Drawer Bot Svce

Screw, #8X18X1/2 6-Lobe TRHD
Screw, 1/4-20X3/4 #10 Hex Ft Hd
Tensilock Bolt, 5/16-18 x 1-1/4"
Screw, #8X.813 Ph AB

Screw, #10-32X3/8, 6 Lobe Tr

Screw, #10-12 x 1/2" Pan HD

Cap Screw,1/4-20X3/4 Button HD
Washer,Flat 1/4X5/8 X .045 SS
Spacer, Drawer Rail

Clip, Trim Svce

NOT PICTURED:

Ref # Part #
32 7007262
7007263
33 7011011
7011012
34 7011007
7011009
35 7011008
7011010
36 7010287
7010288
37 7009654
7009684
38 7010983
39 7010984
40 7010190
41 7010200
42 7010211
43 7010987
44 7010987
45 7029183
7011001
46 NA
NA
47 7010988
7010989
48 7010980
7010981
49 7010986
50 7004170
51 7001264
52 6110460
53 7012994
54 7003597
55 6200050
56 6110980
57 6240340
58 0187010
59 7022423
60 7012209
61 7013234
62 7013560
7013561

Kit, Door Panel Clips Svce

(Qty 14 Clips - for Metal Front Panels)
Threaded Insert, Install Svce

Hinge, Grille Assy RH Svce

Hinge, Grille Assy LH Svce



